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NEW QUESTION 1
Which is a benefit of a cloud-based SD-WAN deployment?

A. might be required for compliance with industry standards
B. Controller availability never an issue
C. security never an issue
D. agility of change dependent only on your own internal IT processes
E. Instant scale

Answer: E

NEW QUESTION 2
Which three ways are SD-Access and ACI Fabric similar? (Choose three.)

A. use of overlays
B. use of Virtual Network IDs
C. focus on user endpoints
D. use of group policy
E. use of Endpoint Groups
F. use of Scalable Group Tags

Answer: ABC

NEW QUESTION 3
Which two options help you sell Cisco ISE? (Choose two.)

A. Downplaying the value of px Grid as compared to REST ful APIs
B. Explaining ISE support for 3rd party network devices
C. Show casing the entire ISE feature set
D. Referring to Trust Sec as being only supported on Cisco networks
E. Discussing (he importance of custom profiling

Answer: BC

NEW QUESTION 4
Which Cisco product supports SD-Access and specifically built lo address new challenges faced by enterprises?

A. Nexus 7700 w/ Sup2E and M3 line cards
B. ISR 4221
C. Catalyst 9500
D. ASR 1000 MX
E. CSRv virtual router
F. Catalyst 6807-XL W/ Sup6T and C6800 10G line cards

Answer: B

NEW QUESTION 5
Which Cisco products were incorporated into Cisco ISE between ISE releases 20 and 2.3?

A. Cisco ASA
B. Cisco ESA
C. Cisco ACS
D. Cisco WSA

Answer: C

NEW QUESTION 6
Which two options are primary functions of Cisco ISE? (Choose two.)

A. providing VPN access for any type of device
B. providing information about every device that touches the network
C. enabling WAN deployment over any type of connection
D. automatically enabling, disabling, or reducing allocated power to certain devices
E. enforcing endpoint compliance with network security policies
F. allocating resources

Answer: BE

NEW QUESTION 7
Which are two Cisco recommendations that demonstrates SDA? (Choose two.)

A. Use the CLI to perform as much of the configuration as possible
B. Show lite customer how to integrate ISL into DMA Center at the end of the demo
C. Focus on business benefits
D. Keep the demo at a high level
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E. Be sure you explain the major technologies such as VXLAN and LISP in depth

Answer: CD

NEW QUESTION 8
Which protocol runs between the vSmart controllers and between the vSmart controllers and the vEdge routers, and unifies all control plane functions under a
single: protocol umbrella1?

A. BGP
B. OSPF
C. IKE
D. VRRP

Answer: D

NEW QUESTION 9
What should you do if you are looking at a strategic win with a customer and the customer wants to examine Cisco ISE for longer than a few weeks?

A. Give then, some of our flash files mat can be played on any browser
B. Set them up with an account on a Cisco UCS server that hosts ISE
C. Set them up with a d Cloud account
D. Give them our ISE YouTube videos
E. Provide them with a downloadable POV kit
F. Provide them to our d Cloud demo library

Answer: C

NEW QUESTION 10
Which three options focus of the current digital business era'? (Choose three.)

A. loT scale
B. connectivity
C. virtualized services
D. automation
E. centralized enterprise and web applications
F. Human scale

Answer: ACD

NEW QUESTION 10
What are the three foundational elements required for the new operational paradigm'? (Choose three.)

A. centralization
B. assurance
C. application QoS
D. multiple technologies at multiple OSI layers
E. policy based automated provisioning of network of
F. fabric

Answer: BEF

NEW QUESTION 14
Which three key differentiators that DNA Assurance provides that our competitors are unable match? (Choose three)

A. Support for Overlay Virtual Transport
B. On-premise and cloud-base analytics
C. Apply Insights
D. VXLAN support
E. Proactive approach to guided remediation
F. Network time travel

Answer: BEF

NEW QUESTION 18
How would cisco ISE handle authentication for your printer that does not have a supplicant?

A. ISE would not authenticate the printer as printers are not subject to ISE authentication.
B. ISE would authenticate the printer using 8.2.1X authentication
C. ISE would authenticate the printer using MAB.
D. ISE would authenticate the printer using web authentication.
E. ISE would authenticate the printer using MAC RADIUS authentication

Answer: C

NEW QUESTION 22
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Which two statements regarding Cisco SD WAN vEdge routers can mitigate DoS attacks against the infrastructure? (Choose two)

A. Open Certificate Authority and automated enrollment feature
B. By default, all incoming traffic is denied art the transport (WAN) side interfaces,
C. Only authorized controllers are allowed to communicate back to the vEdge router after the vEdge router establishes connections with the controllers
D. In case of direct Internet access, the only traffic allowed back is the traffic matching the state table entries on the vEdge router.
E. The vEdge routers run on hardened Linux operating systems

Answer: CE

NEW QUESTION 27
Which feature is supported on the Cisco vEdge platform?

A. single sign on
B. IPv6 transport (WAN)
C. 2-factor authentication
D. license enforcement
E. reporting
F. non-Ethernet interfaces

Answer: B

NEW QUESTION 29
What are three ways in Which Cisco ISE learns information about devices? (Choose three,)

A. user authentication to the ISE
B. SMIP agents
C. RPC mechanism via HTTPS
D. traffic generated by the device
E. network servers the device has accessed
F. RADIUS attributes

Answer: DEF

NEW QUESTION 31
......
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